A 3 NV C D

REV. MCO DWN DATE

E|40029419MCO| VFV | 8-MAR- 16

\/

—={ 2.93 REF }=—o I TEMS 004
LIST OF PARTS IN KIT - AND 005 TEHS 007 008 F|40031755MCO| OAVL | 24-JUN-16
| TEM RIPTION TY = c. = ITEMS 007, 008 ,
d - VESC 0 0 REF AND 009 AND 009
001 | 2" WIDE VERTICAL DUCT |
002 2" WIDE HINGED COVER I ITEM 007 7 ‘ \ ' ‘
003 MOUNT ING BRACKET 10 x \\ \\ & @a ,,[P,, \\ \ oM e
004 | #12-24 X .375 SCREWS | 5 / DM LT REE \ {REF
005 #12 FLAT WASHERS 0 ‘L N s— !
006 #12-24 HEX NUTS 5 o) s ‘F
G
o5 | sie T wwoheRs S ({\ J}f\
REF
009 #10-24 HEX NUTS 5 (_\_Jfﬁ ; / o ! ‘17 , _ DIM "B" REF
010 GROMMET STRIPS 16 “3 - ‘F
011 | #12-24 X _1/2 SCREWS 5 ﬁi O O iﬁ I TEMS 005, 006 O iﬁ \
AND 011 ITEMS 005, 006
RACK SHOWN FOR '
REFERENCE ONLY I TEM 001 AND 011
; I TEMS 004 | TEMS 004
BN Ei O ®, ﬂ AND 005 O :; AND 005
| = L] | | I J \ L]
MOUNTIN PTION 1 MOUNTIN PTION 2 MOUNTIN PTION
TOP VIEW TOP VIEW TOP VIEW
VERTICAL DUCT MOUNTED MOUNTING BRACKET MOUNT ING BRACKET
DIRECTLY TO RACK CONFIGURATION STYLE | CONFIGURATION STYLE 2
I TEM 003 MOUNTING
BRACKET NOT USED A
== ) o o N
\ NI NI
<=— .75 REF «
| .50 REF
FIGURE 2 00 REF FIGURE 3 3
2" SPACING 4" SPACING
— =— 2.00 REF
FIGURE 1
| 5" SPACING FGSB-KTW?2-RN BLACK | 4"H X 2"W | 1.80 - 2.75 | .68 - 1.63 4.10 NONE
FGSB-KTW1-JN BLACK | 2"H X 2"W | 1.80 - 2.75| .68 - 1.63 2.10 NONE
FGSB-KTW1-]B BLACK | 2"H X 2"W | 1.80 - 2.75| .68 - 1.63 2.10 FIGURE 3
FGSB-KTW1-]JA BLACK | 2"H X 2"W | 1.80 - 2.75| .68 - 1.63 2.10 FIGURE |
FGS-KTW1-]B YELLOW | 2"H X 2"W | 1.80 - 2.75 68 - 1.63 2.10 FIGURE 3
NOTES: FGS-KTW1-IN YELLOW | 2"H X 2"W | 1.80 - 2.75 | .68 - 1.63 2.10 NONE
| ONE COPY OF THIS INSTALLATION FGS-KTW2-RN YELLOW | 4"H X 2"W | 1.80 - 2.75 | .68 - 1.63 4.10 NONE
DRAWING INCLUDED WITH KIT.
FGS-KTW2-R YELLOW | 4"H X 2"W | 1.80 - 2.75 | .68 - 1.63 4.10 FIGURE 2
FGSB-KTW?2-R BLACK | 4"H X 2"W | 1.80 - 2.75| .68 - 1.63 4.10 FIGURE 2
FGS-KTW1-]JA YELLOW | 2"H X 2"W | 1.80 - 2.75 | .68 - 1.63 2.10 FIGURE | | /4
CATALOG NUMBER | coLor |pucTsize| bDIM "A" DIM"B" | DIM "C" | conanG
oFIeE . oSt bkawines b setcificarions |7 INSTALLATION DRAWING
COMMSCOPE . INC. AND MAY BE USED ONLY FOR THE VERT FIBERGUIDE 2" WIDE
QOMMSCOPE ., INC, o ZED TN ARTTING BY DUCT AND COVER KITS
SCALE 0.125 ALL DIMS AND TOLERANCES  XX:£N/A C DRAWING NUMBER F
COMMSCOPE, INC. \as nicnes metstey aailit 20 | size 438996 _ADC
EngR: DEREK SAYRES
DO NOT SCALE DRAWING == Sttt = s SHT. | oF |

%x Eﬂ VAN <: EEEEEEE} DIMENSIONS IN INCHES
THIRD ANGLE PROJECTION



	Sheet 1
	Views
	new_view_1
	new_view_2
	new_view_2
	new_view_4
	new_view_5
	new_view_6
	new_view_7



